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7 3K A &% 3 Ak A &% 3K A &3
FE T 100 | 3#Z 100 | 3747 % 100
B HRAL & 100 | &% &% 100 | =¥ 2n 100
L 100 | p 2 & 100 | 3 & 3% 100
Mg 100 | MR % 100 | pt 2 3% 100
FlEE 100 | g5 =~ 100 | &£ p 100
# LA 100 | & ¥ & 100 | %% 200
thiE 200 | Hhip 47 200 | R4 200
HEE 200 | =R+ & 200 | ¢ i 200
N 200 |+ & % F 200 | +ri= 200
HE 200 | o2 % 200 | HR B 5 200
M tp 25 200 | 35 200 | & & % (&%) 200
% 200 | % =% 200 | % =% 200
D e 210 | =83 15 300 | 2 ¥k 300
#£ LN 300 | #hA4e B 300 | #.7 £ % 300
T RZ4 300 | piEpL 300 | E¥E 300
5 im 300 | 4 % 300 | £ 2% 300
S 300 | £#%+8 300 | #% 8 300
7 LrE 400 | % & % 400 | 2 & 500
h®E 500 | #lts % 500 | 3Ot 500
DEE 500 | Br4y 5% 500 | % = & 500
gz 500 | = i 500 | & 3% % 500
L F T 500 | % % &% 500 | +# %ﬁ 500
75 500 | +7 F#t + 500 | 2 p& 2. 500
EEE 500 | =% & ¥ 500 | £ ¥ 2% 500
HERR 500 | 75 5 44 500 | &7 /& 500
k£ 2 500 | & & 500 | He#F @ 500
R 500 | & HH# 500 | i /ﬁ 500
1w 500 | 4 EE4r 500 | & % 500
L 500 | A4z 500 | +r#ia 500
£y > 500 | =44 % 500 | & ‘zd% 500
LR S 500 |+ & % 500 | % =i 500
it 500 | %19 = 500 | 7 F 24 MR 500
A& 500 | £ 4= % 500 | #* s - 500
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Buik § IRAS & SLICE & WACACE ¥ 0.4k

FpaEr 2108 £ 5 8
FR*2 D PFRA LAY L BARYE AR RET

FF A &% | FHA £3F I Ax A £3F
Wz 500 | i + 500 | & &7 500
EX e 500 | 47 2. 4 500 | #4 7 500
A2 500 | B kg & 500 | MR 2 500
e 500 | ¥ % 500 | ¥ 500
%ixfrﬁ] %iélé?] %;‘Effé?l % F1z 500 | +r % 7 600 | & &= 600
mE & 600 | p 4> 800 | 4= 1, 000
WA B R AR FaT At | 1,000 I 1,000 | 2% &% 22 | 1,000
s 2B AL REL FR 1,000 | ¥ &+ 1,000 | 3K 4 1,000
FEN 1,000 | Z37%F 1,000 [ 3#Om #0428 1,000
BHO= 1,000 | #OK’ 1,000 | # #i= 1,000
BOIrFHT LT 227 1,000 | +heeg 1,000 | & &2 1,000
Mg § 1,000 | 3% & 1,000 | s & 1,000
P & 1,000 | 28 % % 1,000 25 3% 2} 1,000
FRFE IRE 1,000 | 5% & # 1,000 | F£p4E 305 B 1,000
¥ 3 1,000 | % 5 & 1,000 | B E2 1,000
Hii dikF 1,000 | & 248 1,000 | =& ¢ 1,000
et 4% %28 3 1,000 | 46 1,000 | 5 & Ftrk 1,000
SRz AR LE R 1,000 | M % 3% 1,000 | > B = & 374K 1,000
IR 1,000 | #¥ # 1,000 | 4 % 1,000
¥E i E 1,000 | £ ﬂ]‘% 1,000 | & %4 1,000
BRIF IR 1,000 | % B % 1,000 | m Gk 1,000
37 23k E 1,000 | th3 2 1,000 | 5= &7z 1,000
P EE 1,000 %% 1,000 | PR3 1,000
M4 1,000 | # B % 1,000 | m & 1,000
FREEL AP ER 1,000 | & 5% 1,000 | 2 1 1,000
A 1,000 | & Fia 1,000 | gg &=~ 1,000
B 1,000 | 23k % 1,000 | #73 =% 1,000
2?-;?]*4% 1,000 | 22 1,000 | =i 1,010
LN 1,010 | 224 % % 1,020 | £33 1,200
SRR I A TR R SR 1,200 | +Ri& % 1,200 | &L % 1,200
MW FRER PR FIRE FIR&| 1,400 | R rF 1,200 | i & 1, 500
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Bk § RIS T AL & AR ¥ 44

FRET 108 &£ 5 7
FRT @ PARA LA A2 AR AT RER T

Ak A &% | #FAA &% A A &%
ZE BEf 2ok 1,500 | 2 p & 1,500 | 2 54 1,500
2 %a 1,520 | * % 1,600 | 3 Fe ¥ 2,000
Roat Rals BBl kA4 REE | 2,000 2p4E 2,000 | #O& +#O® 2,000
LT LR
#O4Y %0% #O% #0OF 2,000 | &4 2,000 | k= £ 2,000
wER L EE 2,000 | # ¥ 2,000 | 5} 4 2,000
A 2,000 | #5332 2,000 | 3 7F 2,000
LIS 2,000 | % % # 2,000 | B ikt 2,000
BEEE ERE ER FET Aie | 2,000 FAZ 2,000 | ¥ Mm% 24 2,000
A 2,000 | 38~ 2,000 | % ez 2,000
< B 2,000 | 5 fap 2,000 | 7 = 2,000
MBHE BRI MY MR 2,000 | % 53 2,000 | 2% 2,000
R Y 2,000 | % A% 2,000 | 2 k1 2,000
L= 2,000 | 4274 F 2,000 | 3874 2,000
ok £ 2,000 | &% 2,000 | & &4 2,000
BT MFE OBER BPR 2,000 | FiE & 2,000 | Hhp4 % % K3k 2,000
LA 2,000 | ez 2,500 | /17 # 2,500
ER R N I JECE 2,500 | ¥ % 3,000 | ¥z i= 3,000
Tk EIEE 24D ok 3,000 | 58 L 4 3,000 | #x it~ 3,000
RIS 3,000 | #rcsE 3,000 | 5 %7 3,000
Tth 2 Laf Sef L4e | 3,000 £ EARRR| 3,000 | G 3,500
B1E 4,000 | £ 2% 4,800 | 2 7 i* 5, 000
¥ LxES 5,000 | w2 ¢ 5,000 | 43 5, 000
B 5,000 | # = :x 5,000 | 4% 5,000
nLE bR 5,000 | ++% £ 5,000 | #:f 2 5,000
Elal 6,000 | A& 6, 000 | * % 7 6, 000
5 % i 10, 000 | %1 g 4= 10,000 | & % 3 10, 000
B g 10, 000 | i ¥ i 10,000 | 3 % 10, 000
ARRERF LD 10,000 | 3% 2 = 10,000 | #8 % % 10, 000
¥ 12,000 | +kim 7= 17,000 | # #a § 20, 000
2k 4E 20,000 | 354 4 20,000 | 0% 50, 000
2O 60,000 | ~ = Fref 4 % & Ak B R arar 145, 215
& Ok 100,000 | = O 300, 000




